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General Instructions :
The question paper comprises of two sections, A and B, you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five mark category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.
An additional 15 minutes time has been allotted to read this question paper only. Candidates
will not write any answer on the answer sheet during this time interval.
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10.

11.

12.

SECTION - A
What would be the structure of ethanoic acid which has formula CH;COOH.
“The magnification of a mirror is +1”. Comment on the statement.
Give two examples to emphasise the concept of REUSE.
Name any two stake holder’s who derive benefit from forests.

(a) In which of the given media, light moves the fastest ?

Medium | Refractive index
Water 1.33
Ice 1.31
Alcohol 1.36

(b) Using above table, calculate the velocity of light in water. Given velocity of light
in air is 3 x 108 m/s.

“The maximum concentration of harmful chemicals accumulates in human beings”.
State the phenomena involved and justify this statement.

Coal and petroleum are considered fossil fuels. Why ?

Name two elements other than carbon and hydrogen which are responsible for the
acid rains when these fuels burn.

(a) State the significance of variation in reproduction.
(b) Mention the principle of regeneration.

(a) Name two bacterial infections.
(b) How do oral pills prevent pregnancy ?

How does the electronic configuration of an atom relate to its position in the modern
periodic table ?

(a) Atomic number is considered to be a more appropriate parameter than atomic
mass for classification of elements in a periodic table. Why ?

(b) How does metallic character of elements vary on moving from
(i)  Left to right in a period, and
(i) From top to bottom in a group ?

Mention the reason for the following phenomena :
(i)  Dispersion of light

(i) Twinkling of stars

(iii) Tyndall effect

(iv) Blue colour of the sky.
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

(a) Define power of a lens. Give its SI unit.
(b) Calculate the power of the lens of focal length - 50 cm.

(a) What are homologous organs ? Give their significance.
(b)  Explain the concept of genetic drift.

Write an example to show how traits are independently inherited ?

Write the names and molecular formula of any two organic compounds having
functional group suffixed with ‘oic acid’. With the help of a balanced equation explain
what happens when any one of them reacts with sodium hydroxide.

Properties of some elements are given below. Identify in each case the element and
group in the periodic table to which it belongs.

a) A soft metal stored under kerosene.
b) An element with variable valency stored under water.
c¢) An element which is tetra valent and forms the basis of organic chemistry.

(
(
(
(d) An element which is an inert gas with atomic number 2.
(e) A metal which burns with brilliant light when ignited.

(

f)  An element which is yellow solid at room temperature that shows catenation
and allotropy.

How do we estimate the age of fossils ? State in brief any two methods.

(a) Name the lens which gives diminished virtual image. Draw labeled ray diagram
to justify your answer.

(b)  Write lens formula stating the meanings of the symbols used.
What is a rainbow ? Explain in brief the formation of a rainbow.

(a) State Snell’s law of refraction.

(b) How far should an object be from the pole of a concave mirror of focal length
15 cm to form a real image whose size is 1/3' the size of the object ?

List any three advantages of vegetative propagation.

(a) What is homologous series of compounds ? List any two characteristics of a
homologous series.

(b) (i) What would be observed on adding a 5% solution of alkaline
potassium permanganate drop by drop to some warm ethanol taken in a
test tube ?

(i) Write the name of the compound formed during the chemical reaction.

(c) How would you distinguish experimentally between an alcohol and carboxylic
acid on the basis of a chemical property ?

OR
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(a) Explain with the help of equation :

(i) esterification reaction and

(ii) saponification reaction
(b)  Describe the mechanism of cleansing actions of soaps.
() Why do soaps not work in hard water ?

24. (a) How does reproduction occur in
(i) Malarial parasite
(i) Leishmania ?
(b) Make a labeled sketch of the male reproductive system and label on it
(i)  The part which secretes testosterone,
(i) The duct which delivers the sperm,
(iii) The structure which serves as a common passage for sperms and urine.
OR
(a) Draw diagram of longitudinal section of a bisexual flower and label on it
(i) Stigma (i) Anther (iii) Ovary (iv) Filament
(b) Categorise the following into bisexual and unisexual - Pappaya, Watermelon,
Hibiscus, Mustard
(c) Mention the post-fertilization changes observed in a flowering plant ?

25. (a) Copy the following diagram on your answer sheet showing the formation of the
image, assuming that the given eye is a myopic eye.

retina

(b) State two causes of this defect.
(c) Name the type of lens that would correct this defect.
(d) Draw a ray diagram to illustrate how this lens helps to correct myopia.

OR

(a) Copy the following diagram on your answer sheet showing the formation of the
image, assuming that the given eye is a hypermetropic eye.

(b) State two causes of this defect.
() Name the type of lens that would correct this defect.
(d) Draw a ray diagram to illustrate how this lens helps to correct hypermetropia.
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26.

27.

28.

29

30.

SECTION - B

A piece of granulated zinc was dropped into copper sulphate solution. After sometime,
the colour of the solution changed from

(a) Light green to blue (b)  Blue to colourless
(c) Light green to colourless (d) Blue to yellow.

The following symbols are usually shown on the bottles of commercial acetic acid.

It indicates that the acetic acid is
(a) Corrosive and flammable (b) Radioactive and flammable

(c) Oxidizing and corrosive (d) Flammable and corrosive

Ethanoic acid on reacting with sodium hydrogen carbonate gives
(@) A colourless pungent smelling gas

(b) A colourless odourless gas

©)

(d) A pale yellow pungent smelling gas

A pale yellow, odourless gas

5 mL of acetic acid and 5 mL water are mixed together and shaken well. The resulting
solution would appear as in

~

Clear 4+—p Turbid—»
Solution Solution [

On adding a small piece of zinc to copper sulphate solution in a test tube it is observed
that -

(a) No reaction takes place.
(b) A colourless gas is produced which turns lime water milky.
(©)

(

d) A reddish brown deposit appears on the zinc.

Pungent smelling gas is produced.
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31. In the figure of budding in yeast given structure, A, B, C and D should be labeled
respectively as

A
B
—>C

=D
(a) Nucleus of bud, bud, yeast, nucleus of yeast.
(b) Dividing nucleus of bud, bud, yeast, nucleus.
(c) Dividing nucleus of bud, bud, yeast, dividing nucleus of yeast.
(d) Dividing nucleus of yeast, yeast, bud, nucleus of bud.

32. The diagram given below illustrates

(a) Bud formation in yeast (b) Binary fission in amoeba
(c) Formation of daughter cells in yeast (d) Pseudopodia formation in amoeba.

33. Which of the following indicates budding in yeast ?
(b)

®
O]

34. The following are the steps in the procedure to determine the percentage of water
absorbed by raisins.

(i) Take a measuring cylinder and place raisins in it

(if) Pour water so that the raisins are dipped fully well

(iii) Note down the initial weight of raisins.

(iv) Next day note down the final weight of the soaked raisins.
The proper sequence of the above steps is -

(@) (1), (i), (i), (iv) (b) (i), (i), (i), (iv)

(€) (@), (iv), (i), (i) (d) (@), (), (iv), (i)
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35. While performing an experiment to determine the percentage of water absorbed by
raisins, the following data was obtained.

Mass of water taken in the beaker = 50g
Mass of raisins before soaking in water = 5g
Mass of raisins after soaking in water = 8g

The percentage of water absorbed by raisins would be

() £§§§l§ x 100 (b) (8;§)g x 100
© (SEZ)g x 100 (d) (ng)g x 100

36. At the end of the experiment, “To determine the percentage of water absorbed by
raisins” we wipe the soaked raisins just before weighing them. This is done to ensure
that

(a) the weighing scale does not get wet.
(b) only the water absorbed by raisins is weighed.
(©)

(d) our hands do not get wet.

the raisins lose water before weighing.

37. To find the focal length of a convex lens, four students A, B, C and D obtained the
image of a window grill on the screen. They measured the distances between.

(A) Window grill and the screen only

(B) Window grill and the lens only

(C) Lens and the screen only

(D) Window grill and the screen and also between the lens and the screen.
Correct focal length will be obtained by the student

(@ A (b) B () C (d) D

38. The focal length of the concave mirror in the experimental set up, shown below
equals :

45678 91011121314151617181920
(a) 10.3 cm (b) 10.0 cm (¢) 11.0 cm (d) 122 cm
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39.

40.

41.

An experiment to trace the path of a ray of light through a glass slab was performed by
four students A, B, C and D. They reported the following measurements of angle of
incidence “ i” angle of refraction “ r * and angle of emergence “ e . The student who has
performed the experiment seriously by observing all possible precautions is

Student | angle "i”| angle 'r” |angle "e”’
A 60 35 59
B 55 40 50
C 40 30 45
D 35 40 30
@ A (b) B (© C (d D
CD is an image of an object AB formed by an optical device X. Identify X.
B
D
C X A
(a) Concave lens (b) Convex lens
() Concave mirror (d) Convex mirror

Four students A, B, C and D traced the path of a ray of light passing through a
rectangular glass slab placed in air. The incident ray and the emergent ray traced by
the four students are shown below

The student who performed the experiment with care and sincerity is
@ A (b) B (© C (d D

-00o0-
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10.

11.
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.
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(@) 10.3 cm (b) 10.0 cm () 11.0 cm (d) 122 cm

Teh 9 & Tid | ¥ B Teh TS k1 FeRT0r o1 T ST A & T o =R ferenfofa
A, B, C @ D 7 foqifeq fopam| 3= ATqa9 =i01 /4 379 hiv1 ‘v qel Fd =hior ‘e’ aht
frafafeg o o =t o faendt oo v &0 ™ @ 9 gove geEantE ga
fromfea fran g, © -

it [ i [ @ [ e
A 60 35 59
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